
Berechne.

47 • 2 = 80 + 14 = 94 94 • 2 = + =
24 • 2 39 • 2
25 • 2 52 • 2
68 • 2 85 • 2

75 • 2 64 • 2 = + =
95 • 2 25 • 2
87 • 2 31 • 2
96 • 2 63 • 2

63 • 2 59 • 2 = + =
17 • 2 41 • 2
81 • 2 23 • 2
49 • 2 66 • 2

16 • 2 36 • 2 = + =
61 • 2 62 • 2
48 • 2 27 • 2
66 • 2 25 • 2

59 • 2 27 • 2 = + =
57 • 2 65 • 2
43 • 2 54 • 2
65 • 2 13 • 2
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Berechne.

47 • 2 = 80+ 14= 94 94 • 2 = 180+ 8= 188
24 • 2 = 40+ 8= 48 39 • 2 = 60+ 18= 78
25 • 2 = 40+ 10= 50 52 • 2 = 100+ 4= 104
68 • 2 = 120+ 16= 136 85 • 2 = 160+ 10= 170

75 • 2 = 140+ 10= 150 64 • 2 = 120+ 8= 128
95 • 2 = 180+ 10= 190 25 • 2 = 40+ 10= 50
87 • 2 = 160+ 14= 174 31 • 2 = 60+ 2= 62
96 • 2 = 180+ 12= 192 63 • 2 = 120+ 6= 126

63 • 2 = 120+ 6= 126 59 • 2 = 100+ 18= 118
17 • 2 = 20+ 14= 34 41 • 2 = 80+ 2= 82
81 • 2 = 160+ 2= 162 23 • 2 = 40+ 6= 46
49 • 2 = 80+ 18= 98 66 • 2 = 120+ 12= 132

16 • 2 = 20+ 12= 32 36 • 2 = 60+ 12= 72
61 • 2 = 120+ 2= 122 62 • 2 = 120+ 4= 124
48 • 2 = 80+ 16= 96 27 • 2 = 40+ 14= 54
66 • 2 = 120+ 12= 132 25 • 2 = 40+ 10= 50

59 • 2 = 100+ 18= 118 27 • 2 = 40+ 14= 54
57 • 2 = 100+ 14= 114 65 • 2 = 120+ 10= 130
43 • 2 = 80+ 6= 86 54 • 2 = 100+ 8= 108
65 • 2 = 120+ 10= 130 13 • 2 = 20+ 6= 26
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